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= Year 11       = SEQUENCES & SERIES       = Worksheet 1
	1. State whether the sequence is arithmetic (A), geometric (G) or neither (N).
(a) 
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              (d) 
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(e) 
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	2. Find the 21st term of the sequence  
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	3. The first term of an arithmetic sequence is 13 and the last term is 111. If the common difference is 7, find the number of terms in the sequence.

	4. Find the 3rd term of the arithmetic sequence whose 4th term is 11 and the 11th term 14.5.

	5. A car was purchased for $19500 and it will depreciate at an estimated rate of $150 per month.

(a) What is its value after 18 months?

(b) How much does it depreciate after 3 years?


	6. Refer to Q5. How many months will pass before the car is valued at $9000?



	7. Evaluate 
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	8. Evaluate the sum of the first 25 terms of the series 
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	9. Given  
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of an arithmetic sequence, find  
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	10. A factory produces 10000 washing machines in its first year and increases production by 1200 units per year.

(a) How many units are produced in the 8th year?

(b) How many washing machines are produced altogether in 10 years?



	11. Find the value of a so that the sequence 
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 is arithmetic. Write down the numerical values of the next two terms.


	Numerical, algebraic and worded answers.
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1.  G, G, A, N, A.


2.  (107


3.  15


4.  10.5


5.  $16800, $5400


6.  70


7.  2304


8.  (225


9.  7665


10. 18400, 154000


11. a = 14. 


      Next 2 terms are 


      44, 58.
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